EQUATION STOICHIOMETRY

SHOW ALL WORK WITH UNITS & LABELS – CIRCLE FINAL ANSWER
1.  Given the reaction:  C3H8 (g) + 5 02(g) -----> 4H20(g) + 3CO2(g)   What is the total number of liters of CO2 produced when 150 liters of O2 reacts completely with C3H8?
2.  Given the balanced equation:  CH 4(g) + 2 02 -----> CO 2(g) + 2H2O (g)   What is the total number of liters of O2 needed to react completely with 10 liters of CH4?

3. Given the reaction N2(g) + 3H2(g) -----> 2NH3(g).   How many liters of ammonia, measured at STP, are produced when 28.0 grams of nitrogen is completely consumed?

4.  Given the reaction:  2C8H18(g) + 25 02(g) -----> 16 CO2(g) + 18H2O(g)     What is the total number of liters of O2 required for the complete combustion of 4.00 liters of C8H18?

(5.-6.)  Base your answers to Questions 5-6 on the following equation:  C8H16(g) + 12 02(g) -----> 8CO2(g) + 8H2O(g)

5. When 10 liters of C8H16 is burned, how many liters of water vapor are produced?

6. How many liters of CO2 at STP are produced to burn completely 112 grams of C8H16?

7. If 2 moles of the gas NO reacts completely with oxygen according to the equation 
2NO + O2 -----> 2NO2, how many moles of O2 will be consumed?

8.  If 3 moles of HCI are used in the reaction 6HCI + Fe2O3 -----> 2FeCl3 + 3H2O, then the number of moles of FeCl3 produced is……

(9.-10.)  Base your answers to questions 9-10 on the following information:  Oxygen and hydrogen gas are produced by the electrolysis of water according to the equation
 2H2O(l) -----> 2H2O(g) + O2(g).

9. How many moles of oxygen are produced in the electrolysis of 4.0 moles of water?

10. How many liters of hydrogen gas at STP are produced in the electrolysis of 90 grams of water?

11. Given the balanced equation:  C2H4 + 3O2 -----> 2CO2 + 2H2O(g) how many liters of O2(g) at STP are produced when 15 liters of O2 are consumed?

12. Given the reaction:  CH4(g) + 2O2(g) -----> CO2(g) + 2H2O(g) how many liters of O2(g) measured at STP are needed to completely burn 1.00 mole of methane (CH4)?

13. Given the balanced equation:  3PbCl2 + Al2(SO4)3 -----> 3PbSO4 + 2AlCl3 how many moles of PbSO4 will be formed when 0.050 mole Al2(SO4)3 is consumed?

14. Given the reaction 2H2 + O2 -----> 2H2O the total number of grams of O2 needed to produce 54 grams of water is…..

15. Given the reaction:  N2 + 3H2 -----> 2NH3 how many grams of ammonia are produced when 1.0 mole of nitrogen reacts?

16. According to the reaction H2 +Cl2 -----> 2HCI, the production of 2.0 moles of HCl would require 70 grams of Cl2 and how many grams of hydrogen?

17. Given the reaction;  S + O2 -----> SO2 what is the total number of grams of oxygen needed to react completely with 2.0 moles of sulfur?

